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QUESTION 1

Which two statements are true about NSX Data Security support? (Choose two.) 

A. It supports HIPAA and PCI-DSS compliance policies as well as U.S. Driver License and Social Security numbers. 

B. It supports both Windows and Linux-based virtual machines. 

C. It only supports HIPAA and PCI-DSS compliance policies. 

D. It only supports Windows-based virtual machines. 

Correct Answer: AD 

 

QUESTION 2

An NSX environment requires physical NIC redundancy for all dvPortGroups when connecting hosts to the physical
network. There are two 10Gb NIC\\'s per host. Which two teaming methods should be used to ensure both links are
utilized simultaneously? (Choose two.) 

A. Virtual Port Channel 

B. LACP Port-Channel 

C. Static Port-Channel 

D. Explicit Failover Order 

Correct Answer: AB 

 

QUESTION 3

VMware NSX is a key component in enabling enterprises to realize the full potential of their investment in which
technology? 

A. Physical to virtual bridged networks. 

B. Integrated physical topology. 

C. Distributed firewall. 

D. Software-defined data center. 

Correct Answer: D 

 

QUESTION 4

When configuring BGP routing in NSX, what is the purpose of the Graceful Restart check box? 
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A. Automatically restart the peer router when BGP session is established. 

B. Allow packet forwarding to be uninterrupted during restart of BGP services. 

C. Automatically restart the local router when BGP session is established. 

D. Allow packet forwarding to be paused during restart of BGP services. 

Correct Answer: B 

 

QUESTION 5

When creating a new security policy how is the default weight determined? 

A. The default weight is equal to the highest defined weight minus 1000. 

B. The default weight is equal to the highest defined weight plus 1000. 

C. The default weight is equal to the highest defined weight. 

D. The default weight is incremented by 100, starting at 0. 

Correct Answer: B 
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